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QUESTION 1
A customer wants to migrate workloads to Cloud Volumes ONTAP.

In this scenario, which two test cases would you design in your proof of concept to demonstrate the solution? (Choose
two.)

A. test HA resiliency

B. test FCoE

C. test storage efficiencies
D. test RAID DP

Correct Answer: BC

QUESTION 2

You are migrating your on-premises Microsoft SQL Server to Microsoft Azure VMs and Azure NetApp Files. You want to
avoid connectivity interruptions during scheduled maintenance operations.

Which Azure NetApp Files feature satisfies this requirement?
A. Manual QoS Capacity Pool

B. Azure Application Consistent Snapshot Tool (AzAcSnap)
C. Snapshot Revert

D. SMB Continuously Available shares

Correct Answer: B

QUESTION 3

A customer has a multi-cloud environment and wants to deploy Cloud Volumes ONTAP in both AWS and Azure. In this
scenario, which two statements are true? (Choose two.)

A. The customer must provide a private subnet with only VPC or VNet routing for any Connector.
B. The customer must provide outbound Internet access for any Connector.

C. The customer must deploy a single Connector for either AWS or Azure and create a VPN connection to the other
cloud.

D. The customer must deploy one Connector for AWS and a second Connector for Azure.

Correct Answer: BC
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QUESTION 4

You re-engineer your on-premises Infrastructure and migrating workloads to the cloud. You are asked to consider a
hybrid cloud deployment.

Which two scenarios would highlight that a hybrid cloud deployment would be more appropriate for the workload in this
situation? (Choose two.)

A. when used to provide a guaranteed low latency solution for your analytics workloads
B. when specific data in your solution is not permitted to be moved to the cloud due to regulations or policies

C. when used to reduce management between your on-premises data center and remote locations by hosting part of
your architecture in the cloud

D. when used as a transition platform during a longer-term migration to a fully cloud-native solution

Correct Answer: CD

QUESTION 5

Which two domain service providers are supported for authentication of Azure NetApp Files SMB shares? (Choose
two.)

A. Active Directory Domain Services (ADDS)

B. Azure Active Directory (Azure AD)

C. Azure Active Directory External Identities

D. Azure Active Directory Domain Services (AADDS)

Correct Answer: BC
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